

Points
Name Abdul Basit Khan

ID: 14564

Sub: Electro Magnetism

Sir: Rafiq Mansoor

Assignment

So now

$$d\omega = -(20 \times 10^{-6}) [100 a_\rho - 3000 a_\phi + 3000 a_z] \cdot \begin{bmatrix} 0.3718x - \\ 0.557ay \\ + 0.743az \end{bmatrix} (6 \times 10^{-6})$$

$$= -(20 \times 10^{-6}) [37.1 (a_\rho \cdot 2\pi) - 55.7 (a_\phi \cdot dy) - 74.2 (a_z \cdot 2\pi) + 111.4 (2\phi \cdot dy) + 222.9] (6 \times 10^{-6})$$

where, at ρ , $(d\rho \cdot d\pi) = (d\phi \cdot dy) = \cos(40^\circ) = 0.766$

$$(d\rho \cdot dy) = \sin(40^\circ) = 0.643 \text{ and } (d\phi \cdot d\pi)$$

$= -\sin(40^\circ) = -0.643$. substituting these
resolution

$$d\omega = -(20 \times 10^{-6}) [28.4 - 35.8 + 47.7 + 85.3 + 222.9]$$

$$(6 \times 10^{-6}) = -47.8 \mu\text{V}$$

Q) The value of E at $P (P=2\hat{x}+4\hat{y}+2\hat{z})$ is given as $E = 100\hat{x} - 200\hat{y} + 300\hat{z}$ V/m. Determine the incremental work required to move a 20 μC charged a distance of 60 μm .

Ans) In the direction of z : The incremental work is given by $dW = -qE \cdot dL$, where in this case, $dL = dP_z = 6 \times 10^{-6}$ m. Thus

* In the direction of \hat{x} in this case $dL = \frac{2}{\sqrt{2^2+2^2}} d\phi \hat{x} = \frac{2}{\sqrt{8}} \times 10^{-6} d\phi \hat{x}$, and so
 $dW = -(20 \times 10^{-6}) (-200) (6 \times 10^{-6}) = 2.4 \times 10^{-8} \text{ J} = 2.4 \mu\text{J}$

* In the direction of \hat{z} : Here $dL = dZ = 6 \times 10^{-6}$
 $dW = -(20 \times 10^{-6}) (300) (6 \times 10^{-6}) = -3.6 \times 10^{-8} \text{ J} = -3.6 \mu\text{J}$

* In the direction of E : Here, $dL = 6 \times 10^{-6} a_E$, where
 $a_E = \frac{100\hat{x} - 200\hat{y} + 300\hat{z}}{\sqrt{100^2 + 200^2 + 300^2}} = 0.2679\hat{x} - 0.5359\hat{y} + 0.8022\hat{z}$

Thus

$$dW = (20 \times 10^{-6}) [100\hat{x} - 200\hat{y} + 300\hat{z}] \cdot [0.2679\hat{x} - 0.5359\hat{y} + 0.8022\hat{z}] (6 \times 10^{-6}) = -44.9 \mu\text{J}$$

In the direction of $\hat{a}_1 = 2\hat{x} - 3\hat{y} + 4\hat{z}$ in this case, $dL = 6 \times 10^{-6} \hat{a}_1$, where
 $\hat{a}_1 = \frac{2\hat{x} - 3\hat{y} + 4\hat{z}}{\sqrt{2^2 + 3^2 + 4^2}} = 0.3712\hat{x} - 0.5579\hat{y} + 0.7439\hat{z}$

plus minus x

$$\frac{(-22x + 3ay - 2z) (10^{-3})}{\sqrt{14}}$$

$$= -\left(\frac{4 \times 10^{-3}}{\sqrt{14}}\right) (-800 - 900 - 500)$$

$$= 2.35 \text{ J}$$

→ in the direction of

$$G = 22x + 3ay + 4az \quad ; \text{ in this}$$

case, $dl = 6 \times 10^{-6} \text{ } 2G$, where

$$2G = \frac{22x + 3ay + 4az}{(2^2 + 3^2 + 4^2)^{1/2}}$$

$$= 0.3712x - 0.557ay + 0.743z$$

So now

$$dw = -(20 \times 10^{-6}) (100 \cdot 2x - 200 \cdot 2y + 300 \cdot 2z)$$

$$\cdot (0.3712x - 0.557ay + 0.743az) \\ (6 \times 10^{-6})$$

$$= -(20 \times 10^{-6}) (37.1 (ap \cdot ax) - 55.7 (2p \cdot 2y) -$$

$$74.2 (90 \cdot 2x + 111.4 (20 \cdot 2y) +$$

Q2. Let $E = 4002x - 3002y + 5002z$ in the neighborhood of point $P(6, 2, -3)$. Find the incremental work done in moving a 4-C charge a distance of 1mm in the direction specified by:

$\Rightarrow 2x + 2y + 2z$: we write

$$dw = -qE \cdot dL = -4(4002x - 3002y + 5002z) \cdot \frac{(2x + 2y + 2z)}{\sqrt{3}} (10^{-3})$$

$$= -\frac{(4 \times 10^{-3})}{\sqrt{3}}(400 - 300 + 500) = -1.39J$$

$\Rightarrow -2ax + 3ay - 3z$: The computation is similar to that of part a, but we change the direction.

$$dw = -qE \cdot dL = -4(4002x - 3002y + 5002z)$$

either point the initial force will be same.

Thus the answer $dW = 31 \mu\text{J}$ as part a. This is also found by going through the same procedure as part a but with the direction (role of P and Q) reversed.

Q3. if $E = 120 \text{ pV/m}$. Find the incremental amount of work done in moving a $50 \mu\text{m}$ charge a distance of 2 mm from.

$$222.97 (6 \times 10^{-4})$$

where, $\cos(2\phi - 2\alpha) = (\cos 40^\circ)$

$$= 0.766, (\sin 2\alpha) = \sin(40^\circ) =$$

$$0.643, \text{ and } (\sin 2\phi) =$$

$$= -\sin(40^\circ) = -0.643. \text{ Substituting}$$

these resolution

$$dW = -(2 \times 10^{-4}) [28.4 - 35.8 + 47.7 +$$

$$85.3 + 222.97] (6 \times 10^{-4}) =$$

$$-41.8 \text{ nJ}$$

line between P & G

32) would involve moving along
a chord of a circle whose

33) radius is $\sqrt{5}$. Halfway along
this line point of symmetry

) in field (make a sketch

) to see this). This means

) that when starting from

not depend on ϕ or z .
Note also that P and Q are
at the same radius ($\sqrt{5}$)
from the axis but have
different ϕ and z coordinates.
We ~~two~~ could just as
well position the two points
at the same z as well
position the two points
at same location and
the problem would not
change. if this were so
then moving along straight. (B)

(Q4)

Ans.

A

P

we

th

we

d

Q4) Compute the value of G

using the path.

Ans. Straight line of segments

$A(1, -1, 2)$ to $B(1, 1, 2)$ to

$P(2, 1, 2)$ in general

we have

$$[G \cdot dl = \int 2y dx$$

The change of x occurs

when moving b/w B and P

during which $y=1$. Thus

$$\int_A^P G \cdot dl = \int_B^P 2y dx = \int 2(1) dx = 2$$

(B) straight line segment

$A(1, -1, 2)$, $(2, -1, 2)$ to

$P(2, 1, 2)$ In case the

change in x occur

when moving from A to C

Ans. P (1, 2, 3) toward Q (2, 1, 4)

The vector along this direction will be $Q - P = (1, -1, 1)$ from which a $PQ = (ax - ay + az)$

$$\sqrt{3} \text{ we now write } dw = -qf dl = - (50 \times 10^6) \left[\frac{120 \cdot 2\pi \cdot (ax - ay + az) (2 \times 10^2)}{\sqrt{3}} \right]$$

At P, $\phi = \tan^{-1}(2/1) = 63.4^\circ$ This

$$(2p \cdot 2x) = \cos(63.4) = 0.447$$

$$\text{and } (2p \cdot 2y) = \sin(63.4) = 0.894$$

Substituting these, we obtained

$$dw = 3.14 \text{ J}$$

\Rightarrow Q (2, 1, 4) toward P (1, 2, 3)

A little thought is in order side here. Note that the field has only a radial component and does

doing

which $y = -1$ thus

$$\int_C \mathbf{F} \cdot d\mathbf{L} = \int_1^2 2y dx + \int_1^2 2(-1) dy = \boxed{-2}$$

Qs) For $G = 3xy^2ax + 2zay$.

Now thing is - - - - -

in that path does

matter.

Ans. straight line $y = x-1, z=1$

we obtain

$$\int_C \mathbf{G} \cdot d\mathbf{L} = \int_2^3 3xy^2 dx + \int_2^3 2z dy$$

$$\int_2^3 (3x(x-1)^2 dx + \int_2^3 2(1) dy) = \boxed{96}$$

5. Parabola $6y = x^2 + 2, z=1$

we obtain

$$\int_C \mathbf{A} \cdot d\mathbf{L} = \int_2^4 3xy^2 dx + \int_2^3 2z dy$$

$$\Rightarrow \int_2^4 \left[\frac{1}{12} x (x^2+2)^2 dx + \int_2^3 2(1) dy \right] = \boxed{6}$$

